
TWIN STORAGE BED

                                                            DO NOT USE SUBSTITUTE PARTS.

 PLEASE CONTACT YOUR RETAIL STORE OR WWW.ROOMSTOGO.COM WITH SERVICE OR PARTS

                                                                   REPLACEMENT REQUEST

This product is manufactured by NAJA for

TWIN PANEL HEADBOARD PARTS LIST

Q'TYNO.

1PCA

3415935P TWIN STORAGE BED W/STORAGE FOOTBOARD - LINEN

Q'TYIMAGEITEM DESCRIPTIONSTYLE#RTG SKU#

34559356 5935-6L 1PC

3415936P TWIN STORAGE BED W/STORAGE FOOTBOARD - WALNUT

Q'TYIMAGEITEM DESCRIPTIONSTYLE#RTG SKU#

34659358 5935-8L 1SET

34959354 5935-12L     2 PCS TWIN/FULL

STORAGE SIDE RAILS
1SET

34559368 5936-6L 1PC

34659360 5936-8L

34959366 5936-12L 1SET

ITEM DESCRIPTION IMAGE

B

C

HEADBOARD

LEFT POST

RIGHT POST

D STRETCHER

1PC

1PC

1PC

TWIN STORAGE FOOTBOARD PARTS LIST

Q'TYNO.

1PCE

ITEM DESCRIPTION IMAGE

F

     STORAGE FOOTBOARD

W/ 1 PC FOOTBOARD DRAWER

ROLL SLATS 1SET

TWIN/FULL STORAGE SIDE RAILS PARTS LIST

Q'TYNO.

2PCSG

ITEM DESCRIPTION IMAGE

SIDE RAILS

35059357 5935-13L
   4 PCS STORAGE

SIDE RAILS DRAWERS
1SET 1SET35059369 5936-13L

TWIN/FULL STORAGE SIDE RAILS DRAWERS PARTS LIST

Q'TYNO.

4PCSH

ITEM DESCRIPTION IMAGE

SIDE RAILS DRAWER

4PCSSUPPORT LEGS FOR DRAWER RAILI

BELLANTE JR.

   4 PCS STORAGE

SIDE RAILS DRAWERS

          1 PC TWIN STORAGE

FOOTBOARD & 1 SET ROLL SLATS

TWIN PANEL

HEADBOARD
TWIN PANEL

HEADBOARD

        1 PC TWIN STORAGE

FOOTBOARD & 1 SET ROLL SLATS
1SET

    2 PCS TWIN/FULL

STORAGE SIDE RAILS



PAGE 2 OF 5

                                                            DO NOT USE SUBSTITUTE PARTS.
 PLEASE CONTACT YOUR RETAIL STORE OR WWW.ROOMSTOGO.COM WITH SERVICE OR PARTS
                                                                   REPLACEMENT REQUEST

This product is manufactured by NAJA for

Version 1 - December 02, 2021

Hardware pack location

TWIN STORAGE BED

Hardware pack location

Hardware pack location

TWIN PANEL HEADBOARD

ITEM DESCRIPTIONSTYLE#RTG SKU#

34559356 5935-6L
TWIN PANEL HEADBOARD

TWIN/FULL STORAGE SIDE RAILS DRAWERS

ITEM DESCRIPTIONSTYLE#RTG SKU#

35059357 5935-13L TWIN/FULL STORAGE
SIDE RAILS DRAWERS

SLAT

34559368 5936-6L

TWIN STORAGE FOOTBOARD & SLATS

ITEM DESCRIPTIONSTYLE#RTG SKU#

34659358 5935-8L     TWIN STORAGE
FOOTBOARD & SLATS34659360 5936-8L

5936-13L35059369

Hardware pack location

BELLANTE JR.



PAGE 3 OF 5

                                                            DO NOT USE SUBSTITUTE PARTS.
 PLEASE CONTACT YOUR RETAIL STORE OR WWW.ROOMSTOGO.COM WITH SERVICE OR PARTS
                                                                   REPLACEMENT REQUEST

This product is manufactured by NAJA for

Version 1 - December 02, 2021

Thank you for purchasing this quality product. Be sure to check all packing material carefully for small parts which may
have come loose inside the carton during shipment. Identify and count all parts and compare with the parts list below.
Read all instructions before assembling and keep these instructions for future reference.

STEP 1

Assembly Instructions:

TWIN STORAGE BED

Q'TY

TWIN STORAGE FOOTBOARD & SLAT HARDWARE LIST

NO. IMAGEITEM DESCRIPTION

3 #4 x 1-1/4"L  Wood Screw 26PCS

The screwdriver is not included

Q'TY

TWIN PANEL HEADBOARD HARDWARE LIST

NO. IMAGEITEM DESCRIPTION

2

1

Ø5/16" x 18 x 2''L Allen Bolt

1PC

8PCSØ5/16"x1.5mm Spring Washer
Ø5/16"x Ø19x1.5mm Flat Washer

8PCS

8PCS

Allen Wrench M4 x 74 x 30mm

Q'TY

TWIN/FULL STORAGE SIDE RAILS DRAWERS HARDWARE LIST

NO. IMAGEITEM DESCRIPTION

6 1PC

8PCS

Allen Wrench M4 x 74 x 30mm

4 #4 x 1-1/8"L Wood Screw 2PCS

Ø1/4" x Ø19 x 1.5mm Flat Washer

Ø1/4" x 20 x 1 3/4''L Allen Bolt

Ø1/4" x 1.5mm Spring Washer

1

2

B

C

D

2

1

A

B

C D

STEP 2

5 8PCS
8PCS

BELLANTE JR.



PAGE 4 OF 5

                                                            DO NOT USE SUBSTITUTE PARTS.
 PLEASE CONTACT YOUR RETAIL STORE OR WWW.ROOMSTOGO.COM WITH SERVICE OR PARTS
                                                                   REPLACEMENT REQUEST

This product is manufactured by NAJA for

Version 1 - December 02, 2021

Thank you for purchasing this quality product. Be sure to check all packing material carefully for small parts which may
have come loose inside the carton during shipment. Identify and count all parts and compare with the parts list below.
Read all instructions before assembling and keep these instructions for future reference.

Assembly Instructions:

TWIN STORAGE BED

STEP 3

E

G

4

6

Leveler
I

HI

H

H

G

5

H

STEP 4 STEP 5

BELLANTE JR.



PAGE 5 OF 5

                                                            DO NOT USE SUBSTITUTE PARTS.
 PLEASE CONTACT YOUR RETAIL STORE OR WWW.ROOMSTOGO.COM WITH SERVICE OR PARTS
                                                                   REPLACEMENT REQUEST

This product is manufactured by NAJA for

Version 1 - December 02, 2021

Thank you for purchasing this quality product. Be sure to check all packing material carefully for small parts which may
have come loose inside the carton during shipment. Identify and count all parts and compare with the parts list below.
Read all instructions before assembling and keep these instructions for future reference.

Assembly Instructions:

TWIN STORAGE BED

 COMPLETE

STEP 6

3

F

BELLANTE JR.


	Positano Youth_BR_IAS - T2.pdf (p.2)
	Model

	Positano Youth_BR_IAS - T3.pdf (p.3)
	Model

	Positano Youth_BR_IAS - T4.pdf (p.4)
	Model

	Positano Youth_BR_IAS - T5.pdf (p.5)
	Model


